



ADVIZEX

Quote #	Quote Date
COC.5-11-17	5/12/2017
(Quote valid for 90 days)	

Name: Wayne Gaiter
 Company: The City of Columbus
 Address: 1691 Arlingate Drive
 Address: Columbus, Ohio 43215
 Phone: 614-645-2550
 Email: wgaiter@columbus.gov

FROM:
 Name: **Pat DeZellar**
 Company: AdvizeX Technologies
 Address: 1103 Schrock Road Suite 100
 Address: Columbus, Ohio 43229
 Phone: 614-580-2494
 Email: pdezellar@advizex.com

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions as specified in this quotation.	Point of Origin

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
CoC DCE				
VNX6GSDAE15F	VNX 15X3.5 IN 6GB SAS EXP DAE-FLD INST	2	\$2,010.96	\$4,021.92
VX-VS10-900U	900GB 10K SAS UPG DRV - 15X3.5IN DAE/DPE	17	\$1,156.40	\$19,658.80
VX-VS07-020U	VNX 2TB NL SAS UPG DRV-15X3.5IN DAE/DPE	18	\$825.65	\$14,861.70
VNXOECAPTBU	VNX OE CAP TIER/TB FOR VNX5500/5700/7500	36	\$196.00	\$7,056.00
VNXOEPERFTBU	VNX OE PERF TIER/TB FOR VNX55/57/75-UPG	16	\$534.59	\$8,553.44
GEN6-10GB-SFP	10GBE OPTICAL SFP (MULTI-MODE)	8	\$183.75	\$1,470.00
GEN6-10GBE-FI-U	10GB OPTICAL SLIC (LANDSLIDE) UPG	2	\$367.50	\$735.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
VNX-RPHW5-G6T	RPA FOR V55 - V75	1	\$9,432.50	\$9,432.50
C13-PWR-12	2 C13 CORDS NEMA 5-15 125V 10A - NON DPE	2	\$0.00	\$0.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
VNX-RPHW5-G6T	RPA FOR V55 - V75	1	\$9,432.50	\$9,432.50
C13-PWR-12	2 C13 CORDS NEMA 5-15 125V 10A - NON DPE	2	\$0.00	\$0.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
			TOTAL	\$75,221.86
CoC DCW				
VNX6GSDAE15F	VNX 15X3.5 IN 6GB SAS EXP DAE-FLD INST	1	\$2,010.96	\$2,010.96
VX-VS10-900U	900GB 10K SAS UPG DRV - 15X3.5IN DAE/DPE	21	\$1,156.40	\$24,284.40
VNXOEPERFTBU	VNX OE PERF TIER/TB FOR VNX55/57/75-UPG	19	\$534.59	\$10,157.21
GEN6-10GB-SFP	10GBE OPTICAL SFP (MULTI-MODE)	8	\$183.75	\$1,470.00
GEN6-10GBE-FI-U	10GB OPTICAL SLIC (LANDSLIDE) UPG	2	\$367.50	\$735.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
VNX-RPHW5-G6T	RPA FOR V55 - V75	1	\$9,432.50	\$9,432.50
C13-PWR-12	2 C13 CORDS NEMA 5-15 125V 10A - NON DPE	2	\$0.00	\$0.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
VNX-RPHW5-G6T	RPA FOR V55 - V75	1	\$9,432.50	\$9,432.50
C13-PWR-12	2 C13 CORDS NEMA 5-15 125V 10A - NON DPE	2	\$0.00	\$0.00
W-PREHW-001	PREMIUM HARDWARE WARRANTY	1	\$0.00	\$0.00
			TOTALS	\$57,552.57
ADVIZEX-PS	AdvizeX Delivered PS Installation / Implementation SOW to Follow		TOTALS	\$11,200.00
POST INSTALLATION PS REQUIREMENTS				
ADVIZEX-PS	NAS Migration Planning , Design & Execution		TOTALS	\$35,000.00



Quote #	Quote Date
COC.5-11-17	5/12/2017
(Quote valid for 90 days)	

Name: Wayne Gaiter
 Company: The City of Columbus
 Address: 1691 Arlingate Drive
 Address: Columbus, Ohio 43215
 Phone: 614-645-2550
 Email: wgaiter@columbus.gov

FROM:

Name: **Pat DeZellar**
 Company: AdvizeX Technologies
 Address: 1103 Schrock Road Suite 100
 Address: Columbus, Ohio 43229
 Phone: 614-580-2494
 Email: pdezellar@advizex.com

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions as specified in this quotation.	Point of Origin

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
	SOW Attached			
	AdvizeX Technologies UTC Compliance			
	Vendor # 7452 / PO# 026526			
	Subtotal			\$178,974.43

TOTAL:	\$178,974.43
---------------	---------------------

Notes:

Unless reflected above the quotation total does not include applicable sales tax and shipping charges.

Payment terms are Net 30 unless otherwise agreed to in writing. We do not accept credit cards.

AdvizeX Technologies may assign without notice all or part of the payments together with all the rights of an unpaid seller but without the assignee's assumption of seller's obligations under this order. AdvizeX Technologies is an equal opportunity employer dedicated to affirmative action and workforce diversity. Payment terms are Net 30, Shipping terms are FOB Origin, and cannot be superseded by any other terms, implied or expressed in any other agreement or purchase order unless otherwise agreed to in writing by AdvizeX.

Please read this Quotation carefully. The terms and conditions set forth on this form constitute the entire agreement between seller and buyer. Seller will not be bound by any terms of buyer's order that are inconsistent with the terms herein. Further, the terms set forth in this form supersede all other terms in any subsequent agreement or purchase order. Acceptance of these terms may be made (1) by written acceptance or (2) by accepting delivery of any good described on this form or (3) raising an order against this quote. This Quotation shall remain firm for 30 days from the date above unless modified in writing by AdvizeX Technologies, LLC prior to our acceptance of your order.

*This Quotation and any order placed as a result hereof shall be subject exclusively to the Terms and Conditions herein. So long as part of the payment due is outstanding, AdvizeX Technologies, LLC shall retain a security interest in any product or software that is part of the system. The customer agrees to execute any documents which may be necessary or appropriate to protect AdvizeX Technologies, LLC security interest in the system at AdvizeX Technologies, LLC request. Any contract resulting from this Quotation must be signed by a duly authorized representative of AdvizeX Technologies, LLC. Any additions, modifications or waivers of any of the Terms and Conditions contained herein or on the attached Agreements shall only be effective if in writing and agreed to by an authorized representative of AdvizeX Technologies, LLC. **AdvizeX Technologies, LLC disclaims all implied warranties, including all warranties of merchant ability and all warranties of fitness for a particular purpose. AdvizeX Technologies, LLC shall not be liable for incidental, special or consequential damages***

